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I have already complete the first par t of this question as follows:
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The question I am having a problem with is: 
Question: Consider this situation independently.  Suppose that Howard Rockness (the Dad) simply decided to eliminate the Cherry and Grape lines.  In the template below, provide Rockness a monthly income statement assuming sales volumes of Diet and Regular remain unchanged, (Note: Be sure you justify your assumptions regarding the behavior of each of the costs that would be incurred if Rockness did this).  Reference supporting calculations.
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e Grape cola caper.” Howard Rockness was worried. His company, Rockness Bouling,
showed declining profits over the past several years despite an inerease in revenues. With
profits decliniog and revenues increasing, Rockness knew there must be a problem with
coss

Rockness sent an e-mal 10 his executive (eam under the subject heading, “How do we
et Rockness Boting back on rack?” Meeting in Rockness’s spacious offce, the team
began brainstorming solutions o the declining profits problems. Some members of the team
wanted 10 add products. (These were marketing people.) Some wanted (o fite the least
efficient workers. (These were financepeople.) Some wanted to empower the workers.
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(These people worked in the Human Resources Department.) And some people wanted to
insall a new computer system. (It should be obsious who these people were.)

Rockness listened patiently. When al participants had made their cases, Rockness said,
“We made money when we were 4 smaller simpler company. We have grown, added new
product Tines, and added new products to old product lines. Now we are going downbil,
What's wrong with this picture’

Rockness conrinued, *Here, look at this report. Th
botling line. What do you see here’
people in his offce,

Rockness asked, “Do you see any problems here? Should we drop any of these
products? Should we reprice any of these products?” The room was silent for 4 moment,
then everybody started talking at once. Nobody could see any problems based on the data in
the report, but all made suggestions 10 Rockness ranging from “add another cola product” to
“cut costs aeross the bourd” (0 “we need  new computer system so that managers can get
ihis information more quickly.” A not-so-patient Rockness stopped the discussion abrupily
and adjourned the meeting.

He then turned (0 the quietest person in the room—his s0n, Racky—and said,
Suspicious of these cost data, Rocky. Here we are assigning indireet costs to these products
using a 260 percent rae. | really wonder whether thal rae i accurate for all products.  want
ou 0 dig into the indirect cost data, figure out what drives those costs, and see whether you
an give me more aceurae cost numbers for these products.”

“Will do, Dad.”

Rocky first went (o the accounting records to get a breakdown of indirect costs. Here is
what he found:

s last month’s report on the cola
it 3.10 10 the

He handed copies o the report in
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Then, he began a series of interviews with department heads to see how  assign these
costs 1o cast pools. He found that one-half of indireet labor was for scheduling or for
handling production runs. including purchasing. preparing the production run, releasing
il for the production run, and performing 4 frs-time inspection of the run. Another
40 percent o indirect labor was used o sct up machinery to produce o particular produc,
The time to set up the products varied. The remaining 10 percent of indirect labor was spent
maintaining records for each of the four products, monitoring the supply of raw materials
required for cach product, and improving the production processes for ach produc,
Interviews with people in the Information Technology Department indicated that
510,000 was allocated to the cola bottling line. Eighty percent of this $10,000 information
technology cost was for scheduling production runs. Twenty percent of the cost was for
record keeping for each of the four products,
Fringe benefits were 40 percent of labor costs. The rest of the overhead was
supply machine capcity of 10,000 hours of productive time.
Rocky then found the following cost driver volumes from interviews with production
personnel,
 Setups: 560 person hours doing setups.
 Production runs: 110 production runs
+ Number of products: 4 products
* Machine-hour capacity: 10,000 hours

ed to

Diet cola used 200 setup hours, 40 production runs, and 5,000 machine-hours (o produce
50,000 units. Regular cola used 60 setup hours, 30 production rurs, and 4,000 machine-
hous 10 produce 40,000 units. Cherry cola used 240 setup hours, 30 production runs, and
900 machine-hours to produce 9,000 units. Grape cols used 60 setup houss, 10 production
runs. and 100 machine-hours (o produce 1,000 units. Rocky learned that production people
had difficulty getting the taste justright for the Cherry and Grape cola, so Cherry and Grape
cola required more time per setup than either Diet or Regular cola did.
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Diet Regular _ Cherry _ Grape Total
Sales. S 75000 § 60000 § 13950 § 1650 § 150,600
Less:
Materials. 25000 20000 4,680 550 50,230
Direct labor 10,000 8,000 1,800 200 20,000
Fringe benefits on direct labor 4,000 3,200 720 50 8,000
Production run costs 8,000 6,000 6000 2000 22,000
Setup costs. 4,000 1,200 4800 1,200 11,200
Record costs 1,200 1,200 1200 1200 4,800
Machine costs 7,000 5,600 1,260 140 14,000
‘Gross Margin S 15800 § 14800 S (6510) 5 (3720) 5 20370
Return on Sales® 21% 25% e 225% 14%
Volume. 50000 40,000 9000 1000 100000
Unit Price s 150§ 150 5 155 § 165 5 155
Unit cost s 118 5 113 5 227 5 537 5 249

= Return on sales before considering selling, general, and administrative expenses




